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Answers and commentaries

This resource is to be used alongside the A-level Politics Paper 3 Political ideologies June

2022 Question paper.

Section A

Levels of response mark scheme for 9-mark questions

Target AO1: 6 marks, AO2: 3 marks

Level | Marks | Descriptors

e Detailed knowledge of relevant political concepts, institutions and
processes is demonstrated and appropriate political vocabulary is
used (AO1)

e Thorough explanations and appropriate selection of accurate
supporting examples demonstrates detailed understanding of
relevant political concepts, institutions and processes (AO1)

e Analysis of three clear points will be structured, clearly focused on
the question and confidently developed into a coherent answer
(AO2).

3 7-9

e Generally sound knowledge of political concepts, institutions and
processes is demonstrated and generally appropriate political
vocabulary is used (AO1)

e Some development of explanations and generally appropriate
selection of supporting examples demonstrates generally accurate
understanding of relevant political concepts, institutions and
processes, though further detail may be required in places and some
inaccuracies may be present (AO1)

e Analysis will be developed in most places, though some points may
be descriptive or in need of further development. Answers will, for
the most part, be clearly expressed and show some organisation in
the presentation of material (AO2).

Students who only make two relevant points will be limited to this level.
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1 1-3 e Limited knowledge of political concepts, institutions and processes is
demonstrated and little or no appropriate political vocabulary is used
(AO1)

e Limited development of explanations and selection of supporting
examples demonstrates limited understanding of relevant political
concepts, institutions and processes, with further detail required and
inaccuracies present throughout (AO1)

e Analysis will take the form of description for the most part.
Coherence and structure will be limited (AO2).

Students who only make one relevant point will be limited to this level.

0 0 Nothing worthy of credit.
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9 mark Socialism question

Question 1
Explain and analyse three ways in which socialist thinkers view human nature.
[9 marks]

Mark scheme

Indicative content

In their explanations and analysis, students may be expected to cover areas such as the

following:

e explanation and analysis of how all socialists consider human beings equal to one another
from birth, therefore rejecting hereditary rule by monarchs

e explanation and analysis of how all socialists believe that humans are malleable and
responsive to their environment. They also tend to have a positive view of human nature
and consider them to be rational beings, who in the right conditions tend to be co-
operative and fraternal by nature

e explanation and analysis of how revolutionary socialists emphasise the corrupting
influence of capitalism on human nature and how it encourages personal greed over the
collective good of society, and that ultimately the overthrow of capitalism is required to
allow humans to reach their full potential. Students may further develop their explanation
by referring to the work of Karl Marx and concepts such as “false consciousness” or
“historical materialism”

e explanation and analysis of how revisionist socialist have questioned whether revolution is
also a damaging influence on human nature. Students may develop their explanations by
referring to the work of Beatrice Webb, and her analysis of the aftermath of the revolution
in Stalinist Russia

e explanation and analysis of the social democratic view of human nature, which suggests
that capitalism needs to be harnessed rather than eliminated for humans to reach their
potential. Students may expand their explanation by referring to the work of Giddens, who
advocated the benefits of consumerist society for the working class and the need for
public services to be well funded to provide equality of opportunity.

Students are required to consider only three ways in which socialists view human nature. If a
student exceeds this number, reward only the best three. However, some may include
relevant points not listed above and these should be credited. If a student gives only one or
two examples, they will receive a maximum of three and six marks respectively.
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Student responses

Response A
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This is a Level 2 response

The student demonstrates some knowledge by correctly identifying three key thinkers,
however this is not always fully developed with an accurate and detailed use of the key
thinkers' ideas to illustrate the point. The answer is also repetitive as it makes the point

that capitalism is corrupting on more than one occasion, this therefore means that the
answer does not answer the requirement in the question to identify three ways socialist
thinkers view human nature. The student therefore achieved 4 marks, the lowest mark in
Level 2.

4 marks
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Response B
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This is a Level 3 response

The response is well organised and clearly illustrates three different points about human
nature accurately identifying three key thinkers, and their ideas, to develop points further.
The accurate use of key concepts such fraternity, gradualism, entrepreneurship, and de-

industrialisation are impressively deployed in order to demonstrate excellent knowledge

and understanding (AO1) to enhance analysis (AO2). This student achieved the highest
possible mark on the question.

9 marks
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9 mark Conservatism question

Question 3
Explain and analyse three ways in which conservative thinkers view tradition.
[9 marks]

Mark scheme
Use Level of response table on pages 3 and 4.

Indicative content

In their explanations and analysis, students may be expected to cover areas such as the

following:

e explanation and analysis of how conservatism was a response to the enlightenment ideas
of political thinkers in the 17" and 18™ centuries in order to defend the existing order
against revolutions as in France. Students may go further by explaining that conservatives
have therefore often been advocates of preserving tradition and long-standing
institutions. Students may expand their explanation by referring to the work of Edmund
Burke

e explanation and analysis of how early conservative thinkers tend to view human beings as
imperfect and therefore respect for long standing institutions of the state and church is a
rational restriction of individual liberty to prevent violent anarchy of the state of nature.
Students may develop their arguments by referring to the work of Thomas Hobbes

e explanation and analysis of early conservative thinkers who are not opposed to any
change to tradition but are very sceptical of radical change. The idea that reform should
be gradual and, where possible, to existing institutions. Students may refer to the work of
Oakeshott to further develop their arguments

e explanation and analysis of how thinkers from the new right are sceptical about the value
of tradition, instead arguing that the state and society should be organised to maximise
individual freedom based upon legally enforceable rights. Students may develop their
argument further suggesting that this often poses a threat to long-established institutions
such as the church and monarchy, and also encourages a lack of deference to authority.
Students may reference the work of Rand and/or Nozick to develop their answers.

Students are required to consider only three ways in which conservative thinkers view
tradition. If a student exceeds this number, reward only the best three. However, some may
include relevant points not listed above and these should be credited. If a student gives only
one or two examples, they will receive a maximum of three and six marks respectively.
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Student responses

Response A
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This is a Level 1 response

The student does identify a relevant concept "change to conserve". However there are
several inaccuracies which do not receive credit, for example in the use of Rand as a key

thinker. The points that are made lack meaningful development. The answer is therefore
limited, and it is a mid-level 1 response.

2 marks
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Response B
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This is a Level 3 response

This answer accurately uses three key thinkers correctly from the specification. The use of
ideas is generally good, it correctly identifies the link between the Hobbesian view of
human nature and the need for a strong state of existing institutions to preserve order,
Burke's critique of the French revolution and Oakeshott's advocacy of pragmatism. This

means that the answer scores well for knowledge (AO1). the analysis (AO2) could at times
be better developed as the ideas discussed were not always developed well, for example
pragmatism is explained as a defence of traditional institutions rather than the “tried over
the untried” and “known over the unknown”. The answer was a good response and
achieved 7 marks.

7 marks
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Section B

25 mark Extract-based essay

Question 4
Analyse, evaluate and compare the arguments made in the above extracts on the role of the
state. In your answer you should refer to the thinkers you have studied.

Mark scheme

A-LEVEL POLITICS - 7152 - PAPER 3 - ANSWERS AND COMMENTARIES

[25 marks]

Target AO1: 5 marks, AO2: 10 marks, AO3: 10 marks

Level

Marks

Descriptors

5

21-25

Detailed and accurate knowledge and understanding of relevant
political concepts, institutions and processes are used to support
analysis of the issue under discussion (AO1).

Analysis of the extract is balanced and confidently developed (AO2).
Comparisons are well explained, are focussed on the question and
fully supported with relevant and developed examples (AO2).
Evaluation of the above leads to well substantiated conclusions that
are consistent with the preceding discussion (AO3).

Relevant perspectives and/or the status of the extract are
successfully evaluated in the process of constructing arguments
(AO3).

The answer is well organised, coherent and has a sustained analytical
focus on the question (AO2).

16-20

Accurate knowledge and understanding of relevant political
concepts, institutions and processes are used to support analysis of
the issue under discussion, though further detail may be required in
places (AO1).

Analysis of the extract is balanced and developed, though some
elements of the analysis could be expanded and/or developed
further (AO2).

Comparisons are relevant to the questions as set, and supported
with examples (AO2).

Evaluation leads to conclusions that show some substantiation and
consistent with the preceding discussion (AO3).

Relevant perspectives and/or the status of the extract are evaluated
in constructing arguments, although in some places there could be
further development (AO3).

The answer is well organised, analytical in style and is focused on the
question as set.

© 2024 AQA
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3 11-15 | *® Generally sound knowledge and understanding of relevant political
concepts, institutions and processes are used to support points
made, though inaccuracies will be present (AO1).

e Analytical points relating to the extract are made and developed in
places, showing some balance, though some points are descriptive
rather than analytical (AO2).

e Comparisons are made and may be supported by examples (AO2).

e Evaluation leads to conclusions that are consistent with the
preceding discussion, but that lack substantiation (AO3).

e Relevant perspectives and/or the status of the extract are
commented on in constructing arguments, though evaluation is
lacking depth (AO3).

e The answer is organised, occasionally analytical and focused on the
qguestion as set (AO2).

2 6-10 e Some knowledge and understanding of relevant political concepts,
institutions and processes are used to support points made, though
these contain inaccuracies and irrelevant material (AO1).

e Analysis of the extract takes the form of description in most places,
with some attempt at balance, though many points are unsupported
assertions (AO2).

e Comparisons tend to be limited and unsupported by examples (AO2).

e Some attempt to draw conclusions is made, but these lack depth and
clear development from the preceding discussion (AO3).

e Relevant perspectives are identified and some awareness of the
status of the extract is shown in the process of constructing
arguments, though evaluation will be superficial (AO3).

e The answer shows some organisation and makes some attempt to
address the question (AO2).

1 1-5 e Limited knowledge and understanding of relevant political concepts,
institutions and processes, with inaccuracies and irrelevant material
present throughout (AO1).

e Analysis of the extract takes the form of description and assertion,
with little or no attempt made at balance (AO2).

e Comparisons tend to be superficial and undeveloped (AO2).

e Conclusions, when offered, are asserted and have an implicit
relationship to the preceding discussion (AO3).

e Little or no evaluation of relevant perspectives and the status of the
extract is present (AO3).

e The answer shows little organisation and does not address the
qguestion (AO2).

0 0 Nothing worthy of credit.
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Indicative content
In the analysis and evaluation of the significance of the nature of the state as made in the
extracts, students should be expected to cover areas such as the following:

analysis and evaluation of the importance of the state to conservative thinkers.
comparison of how both Oakeshott and Rand argue that the state is needed to preserve
order in society. For Oakeshott (Extract 2), students may consider the suggestion that “The
enterprise is to keep afloat on an even keel.” Students may analyse and evaluate
Oakeshott's view of human nature suggesting that it is the state that is required to enforce
rules that otherwise individuals would be inclined to disregard. For Rand (Extract 1),
students may consider that the point of the state is “to protect him from physical violence.
A proper government is only a policeman, acting as an agent of man'’s self-defence.”
Students may analyse and evaluate this further by considering how this is both a
justification of the state and a limitation of its scope.

comparison of what both Oakeshott and Rand consider to be justification for the state. For
Oakeshott (Extract 2), students may cite “men sail a boundless and bottomless sea; there
is neither harbour for shelter nor floor for anchorage, neither starting-place nor appointed
destination.” Students may analyse and evaluate this further by discussing how this
argument suggests there is no inherent “state of nature” and that society is constantly
evolving and therefore the role of the state is to adapt to these constantly changing
circumstances. For Rand (Extract 1), students may cite “The only proper purpose of a
government is to protect man's rights”. Students may go on to analyse that Rand, like
many other neo-conservative thinkers, draws on the idea of natural rights that focus of
property and the absence of restraint on individual action. Students may develop their
answers further by suggesting that therefore the state should be organised around a
logical set of principles that may require radical reform of institutions.

comparison of the nature of the state and its purpose as suggested by Oakeshott and
Rand. For Oakeshott (Extract 2), students may cite “the seamanship consists in using the
resources of a traditional manner of behaviour in order to make a friend of every hostile
occasion.” Students may analyse and evaluate this further by discussing the need for
pragmatism in government in the face of a constantly evolving society, and that for
Oakeshott this meant acceptance of increased state intervention and the welfare state as
a result of the events and changes to society in the 20th century. For Rand (Extract 1),
students may cite “The only proper functions of a government are: the police, to protect
you from criminals; the army, to protect you from foreign invaders; and the courts, to
protect your property and contracts from breach or fraud by others, to settle disputes by
rational rules, according to objective law”. Students may further analyse and evaluate this
by suggesting neo-conservatives advocate a minimal state designed to protect property
rights primarily. Students may further develop their argument by suggesting that from the
1970s onwards neo-conservatives advocated a significant reduction role in the state, and
of state ownership and the provision of welfare in particular.
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The analysis and evaluation of any political information is affected by:

¢ who the authors are - Oakeshott and Rand are famous and influential political thinkers

e the type of publication - philosophical texts aimed primarily at politically engaged readers

e the overt or implicit purpose of the author - to educate and persuade the reader

e therelevance of the extracts to a political issue or concern, and how representative the
extracts are of a viewpoint. Students will be expected to address some of these factors in
their analysis and evaluation of the extracts.

Students will be expected to address some of these factors in their analysis and evaluation of
the extract.

In relation to the extracts for this question, students may also consider the context in which
both Oakeshott and Rand wrote their theories and how this may have affected them. Both are
20th century thinkers and contemporaries of one another. Oakeshott's most prominent
writing was in the post war period of the 20th century in Britain and was in response to the
growth of the welfare state in Britain and the rise to prominence of social democracy as
ideology in the UK and the Keynesian political consensus that had emerged between the
major political parties. In contrast Rand was an American citizen who had fled Russia, and her
work was heavily influenced by the threat, she perceived, that communism and other forms of
socialism posed to individual liberty and the free market democracies of Western Europe and
North America.

Students are required to analyse and evaluate the arguments presented in the articles.
Students who identify which arguments support which of the different views may be awarded
marks for analysis (AO2). To gain marks for evaluation (AO3) students must assess the relative
strengths of the differing arguments.

The analysis and evaluation must clearly focus on the arguments presented in the extracts.
Students would not need to cover each and every one of the above points to gain high marks;
equally, some may introduce further relevant points and these should be credited. The
conclusion should clearly focus on the issue in question. In their evaluation, it does not matter
what views students reach. However, their position must be supported by their arguments
and examples.

Students who fail to focus their discussion on the arguments in the articles, however
complete their answer may otherwise be, cannot achieve above Level 2.
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Student responses

Response A
4. there is oftern an arguemnent as to how difrent conservatives view the extent of the role

of the state with some like Rand argueing that it should only server as a police man and
protect the rights of those that it protects and that is it however outhers like Oakeshott

belive that it should play a more active role in order to try and keep stabilaty.

However fisrt it is important to look at the providence of bothe extacts extract one is
written by Rand who was a neo-conservative this would lead to her focuseing less on
tredition and more one wealth as well as this Rands family would lose there wealth and
have to flee Russia after the revalution as it was taken away from them this would lead to
her being against goverments haveing lots of contriol which would lead to her favoring
smaller roles for goverments however extract two is written by Oakeshottt who was
infavour of the goverment haveing more power this was becuse he was a treditional
conservative who would focuse on trying to keep treditions as well as this he would focuse
on prgmatisum which would lead to hime wanting the govermnet to play a larger role as it

would help keep stabilaty in sociaty.

In extract one Rand argues that “The only proper purpose of a goverment is to protect
man’s rights” this means that she beilves that there should be fredom from the goverment
and that it should not have controll over people this means that it should only get involved if
its citizens are therted by internal or external this is backed up laeter in the extract when it

says “A proper goverment is only a policeman” this means that it should only get involved to
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use the laws to protects its citizens and that it it this means she argues for the goverment to
“settle disputes by rational rules, according to objective law"” which would mean that it only
gets involved when a peerson is brakeing the law. This is simmler to fellow Neo-conservative
Nowzick who also belives that the goeverment should only get involved when a person is
braking the law but should not get involved in anything else however this is difrent to the
arguements put forward by treditonlaist conservatives like Burke and Hobes as they belive
that the govermen t should have full controll over its citizens this is becuse in Burkes case he
beivesles that the govremnt sould protect and inforce treditions in sociaty in order to keep
them and in Hobes case becuse the stae of nature is terable so the goverment should have
complite control over you inorder o prevent you from sliping back into that state of nature

which means that it can do what ever it wants.

Howver Oakeshott argues for the opersite as he belives thhat the goverment should play a
large role in inserureing stabilaty for its citizens this can be seen in the extract when it says
“to keep afloat on an even keel” this shows that the perpose of a goverement is to keep
sociaty stable and prevent a revalution from hapening this is becuse he belives in
pragmatisum and that you shound not change something if it workes this can be backed up
later in the extract when it says “using the resonces if a treditional manner” this shows that
he belives the goverment should have a larger role in sociaty in order to keep it stable and
to stop any revalutions from hapening. This is the opersite of what neo-conservatives like
Nowzick argue as they belive that there should be as little goverment involvemnt as posible
and that they should only get involved to inforce the law and protect fromn outside threats.
However it is simmler to the arguements of fellow treditionalist conservatives like Burke and
Hobes as the all agree on a large role for the goverment however there are some

disagremnts as Oakeshott belives in this becuse of prgmatisum Burke belvies in this inorder
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to inforce the soical contract and keep the tredtion alive for morel reasiens and that sociaty
should enly change to conserve which gose against Oakeshott's pragmatisum as if someing
is not working thenm it should be changed in addtin to this he would not be infavour of
Hobes's compliate controll for the govermnt as that would stop the abilaty for things to

change if the are not working.

The argue that have been put forward show the difrence in what the diferent thinkers in the
conservitve idolagy belive when it comes to the role of the goverment with some favoreing

that of it haveing a small role and outhers of it haveing a larger role.

This is a Level 3 response

This student obtains credit for their initial explanation of the two perspectives (Oakeshott's
pragmatism and Rand’s Neo-conservative libertarianism) in the extracts. They go on to
develop this well by providing good analysis of why Rand held these views, they also
attempt to do so with Oakeshott but less successfully, as the explanation of the context

of his work is much less confident. The student also cites relevant quotes from the extract
by Rand regarding the limited role of the state. However the use of the student’s own
knowledge is limited repetitively explaining Nozick held similar beliefs and then drifting
from the focus of the question with a basic outline of other conservative thinkers on the
specification which are not discussed in the extracts. The student does then make a
comparative point Oakeshott's argument that the state should provide stability, providing
a relevant quote. The analysis of this is again limited, as a questionable statement about
“large” government is made about Burke and Hobbes. The answer would have scored
more highly if it had focused on Oakeshott's ideas. The answer also makes repetition
points about pragmatism. A brief conclusion validly restates the point already made in the
introduction and therefore adds little to the credit already given for analysis and
evaluation. The answer therefore achieved a low Level 3.

12 marks
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This is a Level 5 response

This answer is impressively organised and relentlessly focused on the question. It analyses
both extracts well by discussing their provenance. It correctly identifies the perspectives
from which both Rand and Oakeshott are writing from and relates this well to the
arguments that are presented in the extracts in the opening paragraph. In subsequent
paragraphs a relevant theme is identified with a quote from both extracts, for example the
role of the state in providing order in the second paragraph. This approach means the
student has effectively compared the two extracts by reflecting on what is similar, (the

need for order) and what is different, (the new right perspective of protecting individual
freedom versus the more traditional view of using pragmatism to “make a friend in every
hostile situation”). The answer also only uses other thinkers when it is appropriate to do so
in order to enhance understanding of the extracts. The answer also reaches an effective
evaluation of the extracts in a logical conclusion, distilling the key contrast between the
two perspectives . Such thorough and genuine comparison of the extracts meant that the
answer is relentlessly focused. It achieved the top of Level 5.

25 marks
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Section C

Essay question

Question 6
The aim of feminism is to promote women'’s rights, not to eliminate gender difference.’
Analyse and evaluate this statement with reference to the feminist thinkers that you have

studied.

Mark scheme

A-LEVEL POLITICS - 7152 - PAPER 3 - ANSWERS AND COMMENTARIES

[25 marks]

Target AO1: 5 marks, AO2: 10 marks, AO3: 10 marks

Level

Marks

Descriptors

5

21-25

Detailed and accurate knowledge and understanding of relevant
political concepts, institutions and processes are used to support
analysis of the issue under discussion (AO1).

Analysis is balanced and confidently developed. (AO2).

Synoptic links are well explained, are focussed on the question and
fully supported with relevant and developed examples (AO2).
Evaluation of the above leads to well substantiated conclusions that
are consistent with the preceding discussion. (AO3).

Relevant perspectives are successfully evaluated in the process of
constructing arguments (AO3).

The answer is well organised, coherent and has a sustained analytical
focus on the question (AO2).

16-20

Accurate knowledge and understanding of relevant political concepts,
institutions and processes are used to support analysis of the issue
under discussion, though further detail may be required in places
(AO1).

Analysis is balanced developed, though some elements of the analysis
could be expanded and/or developed further (AO2).

Synoptic links are relevant to the questions as set, and supported with
examples. (AO2).

Evaluation of the above leads to conclusions that show some
substantiation and consistent with the preceding discussion (AO3).
Relevant perspectives are evaluated in the process of constructing
arguments, although in some places there could be further
development of the evaluation (AO3).

The answer is well organised, analytical in style and is focused on the
question as set (AO2).
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3 11-15 | ® Generally sound knowledge and understanding of relevant political
concepts, institutions and processes are used to support points made,
though inaccuracies will be present (AO1).

e Analytical points are made and developed in places, showing some
balance, though some points are descriptive rather than analytical
(AO2).

e Synoptic links will be made, may be supported by examples, though
explanation will lack depth (AO2).

e Evaluation of the above leads to conclusions that are consistent with
the preceding discussion, but that lack substantiation (AO3).

e Relevant perspectives are commented on in the process of
constructing arguments, though evaluation is lacking depth. (AO3).

e The answer is organised, occasionally analytical and focused on the
question as set (AO2).

2 6-10 e Some knowledge and understanding of relevant political concepts,
institutions and processes are used to support points made, though
these contain inaccuracies and irrelevant material (AO1).

e Analysis takes the form of description in most places, with some
attempt at balance, though many points are unsupported assertions
(AO2).

e Synoptic links tend to be limited and undeveloped. (AO2).

e Some attempt to draw conclusions is made, but these lack depth and
clear development from the preceding discussion (AO3).

1 1-5 e Relevant perspectives are identified, though evaluation will be
superficial (AO3).

e The answer shows some organisation and makes some attempt to
address the question (AO2).

0 0 Nothing worthy of credit.
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Indicative content

In the analysis and evaluation of the statement, students may be expected to cover areas

such as the following:

e analysis and evaluation of how some liberal feminists will emphasise the importance of
foundational equality between men and women. Students may expand their answers by
suggesting that it is a matter of individual preference as to how women lead their lives and
that equality of opportunity rather than outcome is the main objective. Students may refer
to the ideas of liberal feminist thinkers such as Gilman in developing their answers

e analysis and evaluation of how radical feminists view patriarchy as the main barrier to the
emancipation of women. Students may develop their arguments by arguing that the
traditional division of roles in both the public and private spheres by gender sustained
inequality, and that these distinctions need to be ended to achieve true equality. Students
may refer to work of de Beauvoir and/or Rowbotham in their answers

¢ analysis and evaluation of how radical feminists have suggested that heterosexual
relationships and masculinity are considered as positive norms by society, which limits
and denies the true liberation of women. Students may refer to the work of Millett in their
answers

e analysis and evaluation of how feminism should not only consider the inequalities
between genders but also how some women are more disadvantaged than others.
Students may therefore argue that the extent of emancipation and women's rights should
not merely be measured by gender differences in society. Students may refer to the work
and ideas of bell hooks in developing their answers

e analysis and evaluation of concepts such as androgyny, sisterhood and intersectionality
alongside various feminist perspectives

e analysis and evaluation of the extent to which both liberal and radical feminism
concentrate on gender difference and legal equality. Students may also reflect on how the
debate has shifted over time from legislation to societal change as a means of achieving
equality.

Students who make no reference to thinkers must not be rewarded marks above Level 2.
Synoptic links may be found in areas such as democracy, interest groups, media, party
policies and programmes, liberalism, socialism and conservatism. Any response that does not
include synoptic points cannot achieve above Level 4.

Students would not need to cover each and every one of the above points to gain high marks;
equally, some may introduce further relevant points, and these should be credited. The
conclusion should clearly focus on the issue in question. In their evaluation, it does not matter
what views students reach. However, their position must be supported by their arguments
and examples.

© 2024 AQA 27 of 33



A-LEVEL POLITICS - 7152 - PAPER 3 - ANSWERS AND COMMENTARIES

Student responses

Response A
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This is a Level 2 response

This student opens with a valid analysis that one of the main aims of advancing women'’s
rights is to achieve greater equality, therefore presenting some analysis of the question.
The subsequent paragraph then goes on to give an explanation of which rights were
initially by the feminist movement and how they had an impact on emancipation and
equality. There is a somewhat confused reference to Simone de Beauvoir. An attempted

evaluation at the end of this second paragraph is vague and unclear, therefore limiting the
amount of credit that can be given for it. The answer ends with a brief discussion of
postmodern feminism which is valid, but is underdeveloped, lacking in evaluation and the
analysis is limited by the absence of reference to a relevant feminist thinker (which is a
requirement of the question). This answer therefore could be best described as limited
and was awarded the middle of Level 2.

8 marks
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Response B
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This is a Level 4 response

This student confidently introduces the answer by demonstrating a clear understanding of
the evolving nature of feminism over time and therefore offers good initial analysis of how
different perspectives of feminism have varied over time. The answer then goes on to
discuss four different perspectives, all of which are relevant and gives a good explanation
of key concepts such as androgyny, with reference to key thinkers from each perspective,
for example Rowbotham and socialist feminism. Each section is also focused on the

question in an evaluative sentence at the end of each paragraph. The conclusion that
follows is logical and reaches a reasonable conclusion that differing feminist perspectives
would view the promotion of Women's rights differently. The student does not fully
develop their analysis and evaluation however, although the answer is well organised it
reads as a list of perspectives rather than evaluation of the question set and does not
address if rights or gender difference is the main aim, or indeed offer an analysis as to why
this is the case. The answer could be developed further and was at the top of Level 4.

20 marks

© 2023 AQA 33 0f33



Get help and support

Visit our website for information, guidance, support
and resources at aqa.org.uk/7152

You can talk directly to the Politics subject team
E: govandpol-s@aqa.org.uk

T: 0161 958 3861

Copyright © 2024 AQA and its licensors. All rights reserved.

AQA Education (AQA) is a reiglstered charity (registered charity number 1073334) and a company limited by
guarantee registered in England and Wales (company number 3644723).

Registered address: AQA, Devas Street, Manchester M15 6EX.



	Binder2.pdf
	A-level Politics AC 7152-3-v1.0.pdf
	A-level Politics (7152/3) Answers and commentaries




